o) =
@ % é Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuagdo:
10,609 x 10 = 3,01 x 1000 =
5,307 x 100 = 8,345 x 100 =
4,549 x 100 = 9,283 x 1000 =
6, 863 x 1000 = 3,567 x 10 =
7,801 x 100 = 8,387 x 10 =
4, 683 x 1000 = 3,622 x 10 =
2,797 x 1000 = 3,365 x 1000 =
6,178 x 100 = 5,415 % 100 =
9,557 x 1000 = 6,45 x 1000 =
4,076 x 1000 = 4,585 x 1000 =
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G =
@ % é Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuagio:
10,609 x 10 = 106.09 3,01 x 1000 = 3010
5,307 x 100 = 530.7 8,345 x 100 = 834.5
4,549 x 100 = 454.9 9,283 x 1000 = 9283
6, 863 x 1000 = 6863 3,567 x 10 = 35.67
7,801 x 100 = 780.1 8,387 x 10 = 83.87
4,683 x 1000 = 4683 3,622 x 10 =36.22
2,797 x 1000 = 2797 3,365 x 1000 = 3365
6,178 x 100 =617.8 5,415 x 100 = 541.5
9,557 x 1000 = 9557 6,45 x 1000 = 6450
4,076 x 1000 = 4076 4,585 x 1000 = 4585
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